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The Jigures in the margin indicate
: full marks forf the questions

1. FI]I in the blanks with appropnate answer :
- - 1%x10=10

{a) The Im.lan Endence Act came mt@ force
conthe .. lst September 1872/ -
2nd Apnl 1872y

. (b} The present Ewdence Act is based.
o mtu‘e;y on.the . °= . (English Law
~of. bwdence/Amencan Law of Evidence)

-."(é:‘," The Indian EVIdence Actis ____ . in
' [{....court-martial. applxcable/not_
apphcable) .

" {d} Court can take Jud1c1al‘ notlce of o
' . (all laws/ law of the land only)

o _Coriid. :




k™

(e) ‘The Pr1n01p1e of Enghsh Laws is
‘admissible - subject to
| exceptions. J(three /four)

L/ _A-:dmlss;lcnlr in- pleading stand on a

I

1/ hlgher footmg)

f practice is that the court
S _ — uncorroborated testimony of
ST _-‘_ an accomg,hce as unworthy -of credit
: (shall! consuﬂler/’ls not bound to

(h) The centents of clectromc records may

. be proved in accordance with the"

o provision . . of . _. of the" Ewdence
','J -, At (sectlo 1 ‘65A/65B)

,"e’,r' ’

(scctlon 6 sectlon 10)

The questmn is- wheth er a horse sold
"'by A to Biis ‘sound. A-says to B-“Go

i I and ask’ C, - kqaws all about it 7° C’s
’ AN, v .
_ FIRACTR xcomment : .Admmssmn/ not-
L H e _g_-_ ‘Adurm smn) S
2 Wn sx‘or* notes on: St 2x5=10

Dn‘ecn
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a -

evidentiary admission. '

(v)I Doctnne of ‘Res gestaells found.in the
BRI " of the Indian- ‘Evidence' Act-

3. What are the n

: /’/ Wha{is retr.

!

- o g I .I Ilrl., I- v;
" ‘(b) Res gestae

(c) Conclusive p;@of j
© @) Extra-Judlcml confessmon -

(e) Conclusxve '

Evidence Act, 1€ _,:2 Wnte also the nature
and purpose of Law of Evidence m' civil and
nrmnal law. - i : 6+6—12-

sax-ne tra.nsactlon, €
occurred at the SE

grounds for. reje
| confessxon? B .' 4+8 12 s
3. What is dymg:_’declaratlon 7 'Diséuss t
evidentiary value of dying declar _tnon und er
the EVIdencc Act, 1872.
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or e L

What -is relevancy of ju__c'l_gemént__? State the
circumstances under which the option of
third person become relevant. . 5+7=i2

6. ~ What is Estoppel ? State its different types
- and ‘how does it defer from Res Judicata. . -
- . ' 2+5+5=12

or

What is burden of proof ? On whom burden
of proof lies -and under what circumstances

it is shifted? Lo 2+6+4=12

7. Who is competent to be a witness _?'-Dfi’scuss
~ the law relating to competency of witness.
Is a child below seven years of age competent
to be a witness ? - 2+6+4=12

 Write short notes on’ SRR ST
) E‘ﬁdetlcé of acco mplicé
R P“”“eged CGmmUnlcatlons B

(e} Dumb vi'?it_riess. E | /1/ _ B
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